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9.  The grayscale p lot  be low shows the probabi l i ty  densi ty  on the x-z p lane for  an e lect ron orb i t ing a
proton.  The e lect ron is  in  an e igenstate of  H,  L2 and 1. .  What  are the quantum numbers n,  I  and m?
Expla in how you f igured i t  out .

10, Calculate the probability that an electron in the ground state of a hydrogen atom is located inside
the nucleus of  the atom. The nucleus is  a s ingle proton wi th spher ica l  shape and radius 10 ls  m.

Do the same calcu lat ion for  uranium. i .e .  The nucleus conta lns 92 protons p lus 146 neutrons,  Jnd has a
radius of  L0 'u  m.  (For  th is  ca lcu lat ion,  ignore a l l  but  1 of  the e lect rons orb i t ing the uranium nucleus) .


